
 

 

 

 

 

 

 
 

Lori has 91 erasers. She shares 31 with 

Carolyn. How many erasers will Lori have? 
 
 
 
 
 
 
 

Jessica removes 10 bananas from a jar. 

There were originally 75 bananas in the 

jar. How many bananas are left in the jar? 
 
 
 
 
 

 

Kathleen weighs 86 pounds. Mary weighs 6 

pounds. How much heavier is Kathleen than 

Mary? 
 
 
 
 
 

 

Jeremy starts with 78 apples. He gives 51 

to Howard. How many apples does Jeremy end 

with? 
 
 
 
 
 

 
There are 96 erasers in a box. Phillip 

takes 31 erasers. How many are left? 
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